HSC 2001 - Biology

Question 5
Question 5
5 The sweet taste of freshly-picked corn is due to the high sugar content in the kernels.
Enzyme action converts about 50% of the sugar to starch within one day of picking. To
preserve its sweetness, the freshly-picked corn is immersed in boiling water for a few
minutes, then cooled.
Which of the following explains why the boiled corn kernels remain sweet?
(A) Boiling destroys the sugar molecules so that they cannot be converted into starch.
(B) Boiling inactivates the enzyme responsible for converting sugar into starch.
(C) Boiling kills a fungus on the corn that is needed to convert sugar into starch.
(D) Boiling activates the enzyme that converts starch into sugar.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 10.9 3.6 1.3 0.3 0
B 54.5 75 90.2 98.1 99.5
[ 7.3 25 1.1 0.3 0.5
D 27.3 19 7.4 14 0
N 0 0 0 0 0
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Band 1/2 Band 243 Band 3rd Band 455 Band 55

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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